EtE
—Rigxt i A E (FEEE—214) Vv 30 30 30 30 30
(HBEE—24) Rin=0QIZHWT v —0.3 —0.3 —0.3 —0.3 —0.3
(HBFHE—2MH) A —0.5 —0.5 — | —0.5 —0.5
i BIE
1.—%&, —%M 1539 AC kvrms | 5.5 5.5 2.5 10 5.5
—R, hikEFh 153 [d) AC kVrms | 5.5 5 2.5 10
2. 20 HERMBEE 10pCIcit T AC kVrms | 2.5 25 1.5 5.5 2.5
a0+ MEHREE 10pCIciR T AC kvrms | 1.8 1.8 1.0 5.0 1.8
e TEED nEEI0 7 & pCLATF | 3000 3000 3000 3000 3000
BAHABH *ixl Rin=0 Vin=25VE§ mA 7.5 9.4 7.5 15 18
B {F{RE R AL HE A2 —10~+85 | —10~+85 | —10~+85 | —10~+85 | —10~+85
RiFIEEEH £ —30~+495 | —30~+95 | —30~+95 | —30~+95 | —30~+95
it
EHRAND BE/ B V/mA 25/5 25/6.25 25/5 25/10 25/12.5
T 7 BIE/ BT V/kQ 10/10 10/2 10/10 10/2 10/1
Tt (—R . ZXR) ER AT o 25 : 10 2510 25: 10 25: 10 2510
DCPTEHRILDH N BENAFYF % 0~+1.5 0~+3.0 0~+3.0 0~+1.5 0~+2.0
* 7y b EE HH0.6VELE mV typ. +50 +50 450 450 +50
e I Bl kHz 100 ~130 | #9 IMHz 100 260 125
HAVYTVEBE mVp-p 100 30 50 100 50
H A BE 3L A EERE (0~90%) 1sEAF 200 20 100 40 100
ANIEANBEOJ/AA—/{—a—b 0~25V  *3E2 %/ mS 20/1 20/1 20/1 10/0.3 20/1
MEHETH TEHEH H mW 115 110 115 200 210
#aE(—10~+70°C)
HHBE BRI HAHBEL VELE BT | £1 +1 £3 +1 +1
HABED. 4~1.5V %L T s ol S qrib = Al +1 =2 S
m R T 25°CICH LT %L a4 +1 +2 &1 +1
i 85E (—3dB) DC~ kHz 3 10 9 10 5
ATy TIE 10%~90% R4 >%f us 200 20 100 40 100
N (RADE1~IBEOZL) 1 & 1 = 2 1 3
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